				Hillcrest		Senitica Costruction		Powell Constructors Inc		LA Engineering		H&H		
Bid Item	Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	
1	Mobilization	1	LS	\$14,000.00	\$14,000.00	\$62,275.00	\$62,275.00	\$156,000.00	\$156,000.00	\$180,000.00	\$180,000.00	\$160,000.00	\$160,000.00	
2	Clearing, Grubing, and Miscellaneous Removals	1	LS	\$41,000.00	\$41,000.00	\$60,000.00	\$60,000.00	\$47,000.00	\$47,000.00	\$295,000.00	\$295,000.00	\$345,000.00	\$345,000.00	
3	Temporary Traffic Control	1	LS	\$22,000.00	\$22,000.00	\$25,000.00	\$25,000.00	\$55,000.00	\$55,000.00	\$20,000.00	\$20,000.00	\$15,000.00	\$15,000.00	
4	Water Pollution Control Best Management Parctice	1	LS	\$9,300.00	\$9,300.00	\$15,000.00	\$15,000.00	\$55,000.00	\$55,000.00	\$35,000.00	\$35,000.00	\$21,000.00	\$21,000.00	
5	Construction Survey and Monumentation	1	LS	\$47,000.00	\$47,000.00	\$15,115.00	\$15,115.00	\$10,000.00	\$10,000.00	\$30,000.00	\$30,000.00	\$29,000.00	\$29,000.00	
	Construct 4" PCC Sidewalk Over 95% Compacted Native Typical Soil Per City of Rialto Standard Plan SC-203 and SC-204	96,000	SF	\$3.70	\$355,200.00	\$6.00	\$576,000.00	\$5.77	\$553,920.00	\$4.50	\$432,000.00	\$5.00	\$480,000.00	
7	Construct 8" Thick PCC Driveway Over 90% Compacted Native Typical Per City of Rialto Standard Plan SC-213, Including Curb and Gutter	400	SF	\$11.30	\$4,520.00	\$40.00	\$16,000.00	\$30.00	\$12,000.00	\$20.00	\$8,000.00	\$8.00	\$3,200.00	
8	Remove and Construct 6" Thick AC Pavement Driveway Transition Over 95% Compacted Native Typical	680	SF	\$9.60	\$6,528.00	\$37.00	\$25,160.00	\$14.00	\$9,520.00	\$12.00	\$8,160.00	\$13.00	\$8,840.00	
9	Construct Full Depth AC Pavement Over 12" Min Compacted 95% Native Subgrade	85	SF	\$24.40	\$2,074.00	\$40.00	\$3,400.00	\$55.00	\$4,675.00	\$40.00	\$3,400.00	\$24.00	\$2,040.00	
10	Install 3'x4' Yellow Detectable Warning Surface Per City Standard Plan No. 215	2	EA	\$930.00	\$1,860.00	\$900.00	\$1,800.00	\$1,800.00	\$3,600.00	\$450.00	\$900.00	\$750.00	\$1,500.00	
11a	Construct 4" Thick Decomposed Granite Shoulder	14,500	SF	\$2.30	\$33,350.00	\$4.50	\$65,250.00	\$4.25	\$61,625.00	\$3.00	\$43,500.00	\$3.50	\$50,750.00	
11b	4" Thick PCC Header	7,300	LF	\$7.60	\$55,480.00	\$8.00	\$58,400.00	\$14.00	\$102,200.00	\$10.00	\$73,000.00	\$8.75	\$63,875.00	
12	Construct Native Selective Soil and Compact to 90%	32,000	SF	\$0.57	\$18,240.00	\$0.30	\$9,600.00	\$0.60	\$19,200.00	\$1.00	\$32,000.00	\$0.85	\$27,200.00	
13	Construct Concrete Cutoff Wall per Detail "B" as Shown on Sheet 3	4,300	LF	\$10.90	\$46,870.00	\$37.50	\$161,250.00	\$17.00	\$73,100.00	\$12.00	\$51,600.00	\$16.00	\$68,800.00	
14	Install Cable Fence Per Manufacturer's Specifications and Detail "C"	6,500	LF	\$42.00	\$273,000.00	\$34.50	\$224,250.00	\$42.00	\$273,000.00	\$40.00	\$260,000.00	\$31.50	\$204,750.00	
15	Install 2" PVC Pipe For Future Landscaping Use	1	LS	\$1,780.00	\$1,780.00	\$5,000.00	\$5,000.00	\$5,000.00	\$5,000.00	\$4,000.00	\$4,000.00	\$5,300.00	\$5,300.00	
	Construct 6" PCC Sidewalk Over 95% Compacted Native Typical Soil Per City of Rialto Standard Plan SC-203 and SC-204	1,900	SF	\$8.20	\$15,580.00	\$15.00	\$28,500.00	\$15.00	\$28,500.00	\$9.00	\$17,100.00	\$6.00	\$11,400.00	
17	Signing and Striping	1	LS	\$11,000.00	\$11,000.00	\$14,200.00	\$14,200.00	\$15,000.00	\$15,000.00	\$12,000.00	\$12,000.00	\$18,500.00	\$18,500.00	
18	Allowance for additional construction items due to Flood Control coordination	1	LS	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	
	BID SCHEDULE A TOTAL				1,058,782.00	00 \$1,466,200.00		\$1,584,340.00		\$1,605,660.00			\$1,616,155.00	

				Universal Construction		SJD&B		Kasa Construction		Three Peaks		Trinity	
Bid Item	Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
1	Mobilization	1	LS	\$80,000.00	\$80,000.00	\$158,000.00	\$158,000.00	\$150,000.00	\$150,000.00	\$130,000.00	\$130,000.00	\$56,021.47	\$56,021.47
2	Clearing, Grubing, and Miscellaneous Removals	1	LS	\$189,000.00	\$189,000.00	\$118,000.00	\$118,000.00	\$305,000.00	\$305,000.00	\$125,000.00	\$125,000.00	\$88,242.13	\$88,242.13
3	Temporary Traffic Control	1	LS	\$46,500.00	\$46,500.00	\$63,000.00	\$63,000.00	\$23,000.00	\$23,000.00	\$10,000.00	\$10,000.00	\$92,679.99	\$92,679.99
4	Water Pollution Control Best Management Parctice	1	LS	\$23,600.00	\$23,600.00	\$13,000.00	\$13,000.00	\$27,000.00	\$27,000.00	\$18,000.00	\$18,000.00	\$53,721.91	\$53,721.91
5	Construction Survey and Monumentation	1	LS	\$34,000.00	\$34,000.00	\$30,000.00	\$30,000.00	\$16,000.00	\$16,000.00	\$30,000.00	\$30,000.00	\$70,495.45	\$70,495.45
6	Construct 4" PCC Sidewalk Over 95% Compacted Native Typical Soil Per City of Rialto Standard Plan SC-203 and SC-204	96,000	SF	\$5.50	\$528,000.00	\$6.74	\$647,040.00	\$5.00	\$480,000.00	\$7.70	\$739,200.00	\$6.74	\$647,040.00
7	Construct 8" Thick PCC Driveway Over 90% Compacted Native Typical Per City of Rialto Standard Plan SC-213, Including Curb and Gutter	400	SF	\$9.00	\$3,600.00	\$12.00	\$4,800.00	\$25.00	\$10,000.00	\$21.00	\$8,400.00	\$22.84	\$9,136.00
8	Remove and Construct 6" Thick AC Pavement Driveway Transition Over 95% Compacted Native Typical	680	SF	\$12.00	\$8,160.00	\$15.50	\$10,540.00	\$22.00	\$14,960.00	\$23.00	\$15,640.00	\$18.26	\$12,416.80
9	Construct Full Depth AC Pavement Over 12" Min Compacted 95% Native Subgrade	85	SF	\$22.00	\$1,870.00	\$12.00	\$1,020.00	\$40.00	\$3,400.00	\$10.00	\$850.00	\$36.28	\$3,083.80
10	Install 3'x4' Yellow Detectable Warning Surface Per City Standard Plan No. 215	2	EA	\$540.00	\$1,080.00	\$600.00	\$1,200.00	\$850.00	\$1,700.00	\$480.00	\$960.00	\$831.31	\$1,662.62
11a	Construct 4" Thick Decomposed Granite Shoulder	14,500	SF	\$1.77	\$25,665.00	\$5.60	\$81,200.00	\$4.50	\$65,250.00	\$2.00	\$29,000.00	\$2.01	\$29,145.00
11b	4" Thick PCC Header	7,300	LF	\$18.00	\$131,400.00	\$6.60	\$48,180.00	\$8.00	\$58,400.00	\$13.00	\$94,900.00	\$5.72	\$41,756.00
12	Construct Native Selective Soil and Compact to 90%	32,000	SF	\$4.00	\$128,000.00	\$0.75	\$24,000.00	\$1.00	\$32,000.00	\$0.95	\$30,400.00	\$0.93	\$29,760.00
13	Construct Concrete Cutoff Wall per Detail "B" as Shown on Sheet 3	4,300	LF	\$18.75	\$80,625.00	\$11.90	\$51,170.00	\$32.00	\$137,600.00	\$19.00	\$81,700.00	\$24.06	\$103,458.00
14	Install Cable Fence Per Manufacturer's Specifications and Detail "C"	6,500	LF	\$33.00	\$214,500.00	\$42.00	\$273,000.00	\$45.00	\$292,500.00	\$45.30	\$294,450.00	\$52.59	\$341,835.00
15	Install 2" PVC Pipe For Future Landscaping Use	1	LS	\$12,000.00	\$12,000.00	\$1,200.00	\$1,200.00	\$1,000.00	\$1,000.00	\$1,500.00	\$1,500.00	\$6,055.64	\$6,055.64
16	Construct 6" PCC Sidewalk Over 95% Compacted Native Typical Soil Per City of Rialto Standard Plan SC-203 and SC-204	1,900	SF	\$6.00	\$11,400.00	\$9.60	\$18,240.00	\$10.00	\$19,000.00	\$9.50	\$18,050.00	\$10.15	\$19,285.00
17	Signing and Striping	1	LS	\$24,000.00	\$24,000.00	\$13,000.00	\$13,000.00	\$9,500.00	\$9,500.00	\$21,000.00	\$21,000.00	\$47,763.07	\$47,763.07
18	Allowance for additional construction items due to Flood Control coordination	1	LS	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
	BID SCHEDULE A TOTAL				\$1,643,400.00 \$1,656,590.00		\$1,746,310.00		\$1,749,050.00		9	\$1,753,557.88	

				Jergensen Construction		Vido Samarzich		Moreno Valley Construction		Caliba		СТ	r&T
Bid Item	Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total	Unit Price	Total
1	Mobilization	1	LS	\$161,000.00	\$161,000.00	\$100,000.00	\$100,000.00	\$35,000.00	\$35,000.00	\$150,000.00	\$150,000.00	\$145,000.00	\$145,000.00
2	Clearing, Grubing, and Miscellaneous Removals	1	LS	\$105,800.00	\$105,800.00	\$200,000.00	\$200,000.00	\$28,500.00	\$28,500.00	\$110,000.00	\$110,000.00	\$46,000.00	\$46,000.00
3	Temporary Traffic Control	1	LS	\$52,900.00	\$52,900.00	\$50,000.00	\$50,000.00	\$45,250.00	\$45,250.00	\$60,000.00	\$60,000.00	\$45,000.00	\$45,000.00
4	Water Pollution Control Best Management Parctice	1	LS	\$28,750.00	\$28,750.00	\$25,000.00	\$25,000.00	\$14,200.00	\$14,200.00	\$60,000.00	\$60,000.00	\$30,000.00	\$30,000.00
5	Construction Survey and Monumentation	1	LS	\$16,100.00	\$16,100.00	\$9,500.00	\$9,500.00	\$16,500.00	\$16,500.00	\$50,000.00	\$50,000.00	\$28,000.00	\$28,000.00
6	Construct 4" PCC Sidewalk Over 95% Compacted Native Typical Soil Per City of Rialto Standard Plan SC-203 and SC-204	96,000	SF	\$5.75	\$552,000.00	\$8.00	\$768,000.00	\$12.00	\$1,152,000.00	\$8.00	\$768,000.00	\$10.15	\$974,400.00
7	Construct 8" Thick PCC Driveway Over 90% Compacted Native Typical Per City of Rialto Standard Plan SC-213, Including Curb and Gutter	400	SF	\$9.46	\$3,784.00	\$15.00	\$6,000.00	\$20.00	\$8,000.00	\$30.00	\$12,000.00	\$16.00	\$6,400.00
8	Remove and Construct 6" Thick AC Pavement Driveway Transition Over 95% Compacted Native Typical	680	SF	\$18.40	\$12,512.00	\$15.00	\$10,200.00	\$10.00	\$6,800.00	\$20.00	\$13,600.00	\$9.50	\$6,460.00
9	Construct Full Depth AC Pavement Over 12" Min Compacted 95% Native Subgrade	85	SF	\$8.05	\$684.25	\$20.00	\$1,700.00	\$12.00	\$1,020.00	\$35.00	\$2,975.00	\$55.00	\$4,675.00
10	Install 3'x4' Yellow Detectable Warning Surface Per City Standard Plan No. 215	2	EA	\$747.50	\$1,495.00	\$700.00	\$1,400.00	\$450.00	\$900.00	\$1,000.00	\$2,000.00	\$800.00	\$1,600.00
11a	Construct 4" Thick Decomposed Granite Shoulder	14,500	SF	\$5.75	\$83,375.00	\$5.00	\$72,500.00	\$4.65	\$67,425.00	\$7.00	\$101,500.00	\$13.00	\$188,500.00
11b	4" Thick PCC Header	7,300	LF	\$9.07	\$66,211.00	\$15.00	\$109,500.00	\$15.00	\$109,500.00	\$7.00	\$51,100.00	\$30.00	\$219,000.00
12	Construct Native Selective Soil and Compact to 90%	32,000	SF	\$3.45	\$110,400.00	\$3.00	\$96,000.00	\$3.00	\$96,000.00	\$6.00	\$192,000.00	\$0.30	\$9,600.00
13	Construct Concrete Cutoff Wall per Detail "B" as Shown on Sheet 3	4,300	LF	\$24.15	\$103,845.00	\$50.00	\$215,000.00	\$30.00	\$129,000.00	\$25.00	\$107,500.00	\$20.00	\$86,000.00
14	Install Cable Fence Per Manufacturer's Specifications and Detail "C"	6,500	LF	\$52.90	\$343,850.00	\$45.00	\$292,500.00	\$39.00	\$253,500.00	\$50.00	\$325,000.00	\$44.00	\$286,000.00
15	Install 2" PVC Pipe For Future Landscaping Use	1	LS	\$4,312.50	\$4,312.50	\$500.00	\$500.00	\$6,250.00	\$6,250.00	\$1,000.00	\$1,000.00	\$4,500.00	\$4,500.00
16	Construct 6" PCC Sidewalk Over 95% Compacted Native Typical Soil Per City of Rialto Standard Plan SC-203 and SC-204	1,900	SF	\$9.20	\$17,480.00	\$12.00	\$22,800.00	\$12.50	\$23,750.00	\$20.00	\$38,000.00	\$10.00	\$19,000.00
17	Signing and Striping	1	LS	\$14,950.00	\$14,950.00	\$25,000.00	\$25,000.00	\$19,250.00	\$19,250.00	\$25,000.00	\$25,000.00	\$12,000.00	\$12,000.00
18	Allowance for additional construction items due to Flood Control coordination	1	LS	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00
	BID SCHEDULE A TOTAL				61,779,448.75	\$.75 \$2,105,600.00		\$2,112,845.00		\$2,169,675.00		\$2,212,135.00	

				Aid B	uilders	Ge	ntry	NR Development		
Bid Item	Description	Quantity	Unit	Unit Price	Total	Unit Price	Total	Unit Price	Total	
1	Mobilization	1	LS	\$300,000.00	\$300,000.00	\$40,000.00	\$40,000.00	\$35,000.00	\$35,000.00	
2	Clearing, Grubing, and Miscellaneous Removals	1	LS	\$300,000.00	\$300,000.00	\$17,500.00	\$17,500.00	\$45,000.00	\$45,000.00	
3	Temporary Traffic Control	1	LS	\$30,000.00	\$30,000.00	\$75,000.00	\$75,000.00	\$27,500.00	\$27,500.00	
4	Water Pollution Control Best Management Parctice	1	LS	\$45,000.00	\$45,000.00	\$14,000.00	\$14,000.00	\$7,500.00	\$7,500.00	
5	Construction Survey and Monumentation	1	LS	\$40,000.00	\$40,000.00	\$36,000.00	\$36,000.00	\$35,000.00	\$35,000.00	
6	Construct 4" PCC Sidewalk Over 95% Compacted Native Typical Soil Per City of Rialto Standard Plan SC-203 and SC-204	96,000	SF	\$7.25	\$696,000.00	\$9.50	\$912,000.00	\$17.50	\$1,680,000.00	
	Construct 8" Thick PCC Driveway Over 90% Compacted Native Typical Per City of Rialto Standard Plan SC-213, Including Curb and Gutter	400	SF	\$20.00	\$8,000.00	\$17.76	\$7,104.00	\$23.00	\$9,200.00	
8	Remove and Construct 6" Thick AC Pavement Driveway Transition Over 95% Compacted Native Typical	680	SF	\$30.00	\$20,400.00	\$14.25	\$9,690.00	\$18.00	\$12,240.00	
9	Construct Full Depth AC Pavement Over 12" Min Compacted 95% Native Subgrade	85	SF	\$100.00	\$8,500.00	\$36.00	\$3,060.00	\$25.00	\$2,125.00	
10	Install 3'x4' Yellow Detectable Warning Surface Per City Standard Plan No. 215	2	EA	\$2,000.00	\$4,000.00	\$750.00	\$1,500.00	\$750.00	\$1,500.00	
11a	Construct 4" Thick Decomposed Granite Shoulder	14,500	SF	\$5.00	\$72,500.00	\$8.25	\$119,625.00	\$2.75	\$39,875.00	
11b	4" Thick PCC Header	7,300	LF	\$13.00	\$94,900.00	\$34.00	\$248,200.00	\$10.00	\$73,000.00	
12	Construct Native Selective Soil and Compact to 90%	32,000	SF	\$1.25	\$40,000.00	\$7.75	\$248,000.00	\$0.50	\$16,000.00	
13	Construct Concrete Cutoff Wall per Detail "B" as Shown on Sheet 3	4,300	LF	\$25.00	\$107,500.00	\$42.00	\$180,600.00	\$30.00	\$129,000.00	
14	Install Cable Fence Per Manufacturer's Specifications and Detail "C"	6,500	LF	\$47.50	\$308,750.00	\$39.00	\$253,500.00	\$25.00	\$162,500.00	
15	Install 2" PVC Pipe For Future Landscaping Use	1	LS	\$5,000.00	\$5,000.00	\$9,500.00	\$9,500.00	\$2,500.00	\$2,500.00	
16	Construct 6" PCC Sidewalk Over 95% Compacted Native Typical Soil Per City of Rialto Standard Plan SC-203 and SC-204	1,900	SF	\$10.00	\$19,000.00	\$13.50	\$25,650.00	\$18.00	\$34,200.00	
17	Signing and Striping	1	LS	\$60,000.00	\$60,000.00	\$19,991.00	\$19,991.00	\$22,500.00	\$22,500.00	
18	Allowance for additional construction items due to Flood Control coordination	1	LS	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	\$100,000.00	
	BID SCHEDULE A TOTAL		\$2,259,550.00		\$2,320,920.00		\$2,434,640.00			